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COP Certificate No. C C 0 C S 1 3 1 3  Date : 26th June 2023

Cert Dwg Total

1 0 01 pgs

CERTIFICATE FOR CONFORMITY OF PRODUCTION

   (For compliance to AIS - 037) Non- Transferable

1 Customer’s Name M/s. Ericsson Cable Industries

2 Customer’s Address

VPO Moginand, Nahan Road, Kala AMB, District-Sirmour,Tehsil Nahan

Himachal Pradesh-  173030 , India

3

Manufacturer of &

Name/address of the Manufacturer

Laminated Safety Glass

M/s. Ericsson Cable Industries

VPO Moginand, Nahan Road, Kala AMB, District-Sirmour,Tehsil Nahan

Himachal Pradesh-  173030 , India

Meets all the test requirements as per IS: 2553 (Part 2)-2019 upto Amendment No. 03 2022 as well as the requirements of

Conformity of Production (COP) in accordance with Automotive Industry Standard AIS-037 with its Amend. No.10.

Valid Until:

* May change subjected to any further amendement in AIS

: 037

31.03.2025

Reference test report number CT0CS1312 dated 26.06.2023

TAC Reference

CM1889 dated 29.07.2021

CN2113 dated 16.12.2022

CN1784 dated 14.10.2022

Previous COP Certificate number CC0CR0745 dated 19.04.2022

ICAT Reference CTL_340 Please turn over for DISCLAIMER

AUTHORISED SIGNATORY

HARISH JOSHI AMIT KARWAL Dr. MADHUSUDAN JOSHI Page 1 of
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